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TEMA 2: Ecuaciones Diferenciales Ordinarias de Segundo Orden 

 

RESULTADOS: Experimentación Activa 

01-E  

a) 𝑦 = 𝐶1
 𝑒−2𝑥

−2
+

3

2
𝑥2 −

3

2
𝑥 + 𝐶2  

b) 𝑦 = 𝐶1
𝑥8

8
+

16

7
𝑥 + 𝐶2   

c)  −𝑦 (𝑙𝑛𝑦 − 1 + 𝐶1) = 𝑥 + 𝐶2    

 

02-E  

a) 𝑦𝐺 = 𝐶1 𝑒2/√5 𝑥 + 𝐶2 𝑒−2/√5 𝑥   𝑦𝑃 =
3

2
 𝑒2/√5 𝑥 +

1

2
 𝑒−2/√5 𝑥 

b) 𝑦𝐺 = 𝐶1 𝑒7𝑥 + 𝐶2 𝑒2𝑥 

c) 𝑦𝐺 = 𝐶1 𝑒1/2𝑥 + 𝐶2 𝑥𝑒1/2𝑥   𝑦𝑃 = 9 𝑒1/2𝑥 − 4 𝑥𝑒1/2𝑥 

d) 𝑦𝐺 = 𝐶1 𝑒−5𝑥 + 𝐶2 𝑥𝑒−5𝑥 

e) 𝑦𝐺 = 𝑒2𝑥(𝐶1𝑐𝑜𝑠6𝑥 + 𝐶2 𝑠𝑒𝑛6𝑥)  𝑦𝑃 = 𝑒2𝑥(3𝑐𝑜𝑠6𝑥 + 4 𝑠𝑒𝑛6𝑥) 

f) 𝑦𝐺 = 𝐶1𝑐𝑜𝑠3𝑥 + 𝐶2 𝑠𝑒𝑛3𝑥 

 

03-E  

a) 𝑦𝐺 = 𝐶1 𝑒3𝑥 + 𝐶2 𝑒−𝑥 − 2𝑥 − 1 

b) 𝑦𝐺 = 𝐶1 𝑒9𝑥 + 𝐶2 𝑒−2𝑥 −
1

2
𝑥2 +

1

2
𝑥 +

1

4
 

c) 𝑦𝐺 = 𝐶1 + 𝐶2 𝑒5𝑥 −
3

2
𝑥2 − 2𝑥 

d) 𝑦𝐺 = 𝐶1 𝑒−4𝑥 + 𝐶2 𝑥𝑒−4𝑥 + 𝑥2𝑒−4𝑥 

e) 𝑦𝐺 = 𝐶1 𝑒10𝑥 + 𝐶2 𝑒−10𝑥 + (
1

3
𝑥 −

1

9
) 𝑒11𝑥 

f) 𝑦𝐺 = 𝐶1 𝑒−𝑥 + 𝐶2 𝑒−11𝑥 +
𝑒3𝑥

1000
(13𝑐𝑜𝑠2𝑥 + 9 𝑠𝑒𝑛2𝑥) 

g) 𝑦𝐺 = 𝐶1 𝑒9𝑥 + 𝐶2 𝑒−3𝑥 −
1

12
𝑥𝑒−3𝑥 
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04-E  

a) 𝑧(𝑥) = −
1

25
+

1

25
𝑠𝑒𝑛5𝑥 ln (𝑠𝑒𝑐5𝑥 + 𝑡𝑔5𝑥) 

b) = 𝑧(𝑥) = 𝑒6𝑥 (
3

265
𝑠𝑒𝑛2𝑥 −

32

265
𝑐𝑜𝑠2𝑥) 

c) 𝑧(𝑥) = 𝑒(2/3)𝑥 (−
1

2
𝑙𝑛2𝑥 − 𝑙𝑛𝑥 − 1) 

d) 𝑧(𝑥) = 𝑒7𝑥 [−√𝑥2 + 7𝑥 + (x −
7

2
)  ln (2√𝑥2 + 7𝑥 + 2𝑥 − 7)] 

 

05-E 

a) 𝑦(𝑥) = 𝐶1 𝑒4𝑥 + 𝐶2 𝑒−4𝑥 + 𝐶3𝑒3𝑥 + 𝐶3𝑒−3𝑥 

b) 𝑦(𝑥) = 𝐶1 + 𝐶2𝑥 + 𝑒2𝑥(𝐶3 + 𝐶4𝑥 + 𝐶5𝑥2) 

c) 𝑦(𝑥) = 𝐶1 𝑒1/2𝑥 + 𝐶2𝑥 𝑒1/2𝑥 + 𝐶3 + 𝐶4 cos 5𝑥 + 𝐶5 𝑠𝑒𝑛 5𝑥 

 

01-P  

𝑥(𝑡) = 0,2 𝑐𝑜𝑠8𝑡 

02-P 

a)  𝜃(𝑡) = 0,5385 𝑠𝑒𝑛(2𝑡 + 0,3805) 

b) 𝐴 = 0,5385 

c) 𝑇 = 𝜋 

d) 𝑡 =
𝑘𝜋−0,3805

2
; 𝑘 = 1, 2, 3, … 

e) 
𝑑𝜃

𝑑𝑡
= 1,077 


